PR E MR R 28 2R - S FI6XFEPN FP w3
M E
o iF i E ZEa & 7 K § & A4
| & L F Ak Bl E 3 ; N 3
2\ #mpes HHPE FEE T ES 58 miw@ | Liem| 55
? @; FEZEYIUT* RN 1.2Kg [/ 0ZR 5 1.5Kg [ZAIEI(50g* 2T #)N 25 |E 4% 0.5Kg |JEE M = 7 0.3Kg 90| 2 4 ¢ 3tr 9.3
11 BRE(HFT) OKg [T 45 0.5Kg HEETIEL) OKg [FF32(%K) OKg 5 97(g) k) 1.5
p TEE OKg |75 fifsit 0.3Kg SEFEE(RT) 0Kg 19.4] 7 = 58 2.5
% B 0.3Kg P 0
Hp RE 0.2Kg 98.6| 0
— BEGH)
% # 649
17
129 | FREGS PAY B Yt E 3 3 MEG | ie#| 5.5
v | K [mpsmsacseaN e |ZRWIH) 2Kg [EaskATIAMNGG |FITE(DIER)  OKg | EkH(Q 0Kg 90| 2k 3o 2.7
12 | % |eEamaz L k| £ EEY) 05Ky B os|  |nee | mEs|  Ls
p Sk e 0.5Kg [ERZEE](V]R)  0.3Kg 20.6( @ Pqup 2.5
23 st 0.5Kg [AH: 0.2Kg 35 () | kr 0
ﬁ’; 31.4| 0
= BE(HH)
% 671
7
] e —1E LS R B 4p | & P BT R mEE | Lem| 6.5
v | F [zmskoN 1Kg [Z BB AN 251 | RN E(RALL) 250 | B 23 OKg | H 25K 00| 24 # 3 9.7
13 | % o 0Kg SIEWIR)  OKg [k (i 5w (g) sy 1.5
P Eragd 0Kg 20.6| # x5 95
L] W) OKg o () | kb 0
2 a7 45 () 0Kg 31.4| 0
= HE (k)G 0Kg BE(2 )
ke 671
17
121 4 priy i peed 5 - % 95 g PR m(e |z 5
1| |G KG) Ko [YeEEYI RN LSKg [T TR ML 1Kg [4MEICH(CAS)  OKg | TibkE(Kg*E) 0f 92.5|2 &k ur .2
14 | £ ZUFI(L2507 &N 1 [BIEERI(DIE ) OKg [BREERI(DI4%)  OKg|4IE(Q) 0Kg 5537 (g) N 2
p HHEEE (R T) OKg |EREZ (T /) OKg ok 0Kg 23.6| #7347 8
bt BHE(PT)  0Kg o G | ki 0
# 35.4| g 0
- #E(:H)
% 724
17
12| d SR E RNl « HdE Al b O EXRE 5
1| K | IR (L500N 6 [ AA(DIEY)  1.2Kg [JuEs OKg [ A Resk (L]ES) 0Kg |22 (ka)G 0Kg 92.5| 2 4 r 3 9
15 | AR |FF T80 1Kg |[HE T4(Ke#L 1Ko |SHERE](]4%)  OKg LA 0Kg 57 (g) RN 2
p WEEG) IR 01Kg[EEWINE)  OKg 22.1| i s 5
- WE R () 0.5Kg |EHZEE) (P14%)  0.1Kg | E4% 0Kg B0 F(g) | kEa 0
# T (KGN 0.2Kg 35.4| g 0
3 BE(5H)
tE 710.5
17
wds 51 R T 04-8613339 @ : 04-8613336 Wipy:

MAFH PR Y BA D B

¥ AR SRR ek o



